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CH4 + O2 CO2 + H2O 



aCH4 + bO2 cCO2 + dH2O 



aCH4 + bO2 cCO2 + dH2O 

C: a 0 c 0
H: 4a 0 0 2d  
O: 0 2b 2c d    



aCH4 + bO2 cCO2 + dH2O 

C: a +  0 = c + 0
H: 4a +  0 = 0 + 2d
O: 0 +  2b = 2c + d



aCH4 + bO2 cCO2 + dH2O 

a = c
4a = 2d
2b = 2c+d

c = a
d = 2a
2b = 2c+d

= 4a

a = a
b = 2a
c = a
d = 2a

a : b : c : d = 1 : 2 : 1 : 2



aCH4 + bO2 cCO2 + dH2O 
a = c
4a = 2d
2b = 2c+d a=1

a = 1
b = 2
c = 1
d = 2

a : b : c : d = 1 : 2 : 1 : 2



aCH4 + bO2 cCO2 + dH2O 

a : b : c : d = 1 : 2 : 1 : 2



aCH4 + bO2 cCO2 + dH2O 
a : b : c : d = 1 : 2 : 1 : 2

1CH4 + 2O2 1CO2 + 2H2O 

CH4 + 2O2 CO2 + 2H2O 
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CH4(g) + 2O2(g) CO2(g) + 2H2O(l) 



N
N
NH3

N2 + H2 NH3



aN2 + bH2 cNH3



aN2 + bH2 cNH3

N: 2a 0 c
H: 0 2b 3c



aN2 + bH2 cNH3

N: 2a +  0 = c
H: 0  + 2b = 3c



aN2 + bH2 cNH3

2a = c
2b = 3c

c = 2a
2b = 6a

a = a
b = 3a
c = 2a

a : b : c = 1 : 3 : 2



aN2 + bH2 cNH3

2a = c
2b = 3c a=1

a = 1
b = 3
c = 2

a : b : c = 1 : 3 : 2



aN2 + bH2 cNH3

a : b : c = 1 : 3 : 2



aN2 + bH2 cNH3

a : b : c = 1 : 3 : 2

1N2 + 3H2 2NH3

N2 + 3H2 2NH3
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N2(g) + 3H2(g) 2NH3(g) 



(C2H5OH)

C2H5OH(g) + 3O2(g) 2CO2(g) + H2O(l) 

CaCO3(s) + 2HCl(aq) 
CaCl2(aq) + H2O(l) + CO2(g) 




